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The potential is givenby
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Use Schrodinger's equation
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By the usual arguments of separation of

variables the two highlighted portionsmust
be constant
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from the Boundary conditions

we need
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This state is not normalizable hence
not a solution
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Then the solution to Eg 3 is
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Cannot have Cz o since

Otherwise we have non normalizable
Zero solution Therefore
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The logic for 11cg is the same
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Thus an Eigenfunction is
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The normalization condition implies
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Note neither Mor n can be

zero to be normalizable
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The ground state is
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